
In jedem der folgenden Wörter steckt ein falscher Vokal.  
Wie müssen die Wörter richtig heißen? 
 
 
Gemüse          Bäume                                                         
 
Warzel =  ____________________________             Fachte =  ________________________ 
 
Tumate =  ___________________________              Eichol =  ________________________ 
 
Karteffel =  __________________________             Barke =   ________________________ 
 
Bahnen =  ____________________________            Bache =  ________________________  
 
Kohlrubi = ___________________________             Kiefor =  ________________________ 
 
Salut = _______________________________           Tonne =  ________________________ 
                                                                                    
Gorke =  _____________________________             Uhorn =  _____________________ 
 
Kuhl =  ______________________________             Fochte =  _______________________                          
 
 
 
 
Vögel                                                               Länder  
 
Bachfink =  ___________________________            Fannland =  ____________________ 
 
Zeisog =  _____________________________            Schwaden =  ___________________ 
 
Stur =  _______________________________            Pulen =  ______________________ 
 
Spitz  =  ____________________________               Ungern =  _____________________ 
 
Drassel =  ____________________________             Deutschlind =  _________________ 
 
Funk =  ______________________________             Hollond =  _____________________ 
 
Robe =  ______________________________             Irlend =  ______________________  
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